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fAM: EXlZel

HH: EXNAN HTE PE
@2 EXNZFHAY X (=& J)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
01 At 22l 5,000 0 5,000
OMNESAXIL ZALKE AL 5,000
= 2,500
< 2,500
202 odl 14,000 0 14,000
= 7,000
< 7,000
01 = LH 4 1l 14,000 0 14,000
OMESAIXI It ZAKE AL 14,000
= 7,000
= 7,000
308 XXM S0 A 1,073,773 0 1,073,773
= 1,073,773
01 AXNSGHBLEES 1,073,773 0 1,073,773
OMNESAXIL ZALKE AL 1,073,773
= 1,073,773
405 XHoHE S HI 1,000 0 1,000
= 500
< 500
01 et EFFHSHI 1,000 0 1,000
OMESAIXIIb ZALKE AL 1,000
= 500
< 500
238 MTHSAIAE 243 ALY 20,000 0 20,000
308 XX EHH SOl A 20,000 0 20,000
01 AXSHBLELS 20,000 0 20,000
ORs4 EXNHSAAHE e 2 58 20,000
DHSHO XNZFHE 2 539,881 253,907 285,974
= 65,351
< 474,530
NE=2FdU 299 13,500 38,500 A 25,000
201 L2l 13,500 13,500 0
01 At 22l 13,500 13,500 0
OXNE=ZAXUE 2F(0&E2Z 10%) 13,500
A& z2e 65,351 67,507 N2,156
= 65,351
202 o4dl 5,941 6,137 A 196
= 5,941
01 = LH o4 1l 5,941 6,137 A 196
OXI & 2tel 5,941
= 5,941
308 KX EHS0IA 59,410 61,370 21,960
= 59,410
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M EXNHE Hd8F 2
SRl DASHO NHBH P EERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 HIXNHHNBHNEES 59,410 61,370 A 1,960
OX= el 59,410
= 59,410
NENOILE & AR ASIO S = 9,000 9,000 0
201 -4 9,000 9,000 0
01 At 22l 9,000 9,000 0
OXNFEAMOIL & AIMRASI S Nzl (0l aHE
2 10%) 9,000
Qo W BRX &2 SEMES 52,030 0 52,030
308 XXM SO A 52,030 0 52,030
01 HIXNHHBNEES 52,030 0 52,030
OO0 W 28X &2 SEHE 52,030
IXIIE ELEA(AR) EAHE 2E 400,000 0 400,000
201 et 2,000 0 2,000
01 At 22l 2,000 0 2,000
ORI SLEHA(AREHE 2= (2 ¢
+22) 2,000
207 RO ] 398,000 0 398,000
01 H23 39l 10,000 0 10,000
OfAXIIE ZZEHM(ARIERE AF(IIZZ A 10,000
02 & A I 388,000 0 388,000
OfIXIIIE SLEHAU(AREHRE IS (EAHZ 2
=) 388,000
SSMEE IS 90,000 110,000 20,000
HEXRE DSES ALY 90,000 90,000 0
308 XX EHH SOl A 90,000 90,000 0
01 X HHILEES 90,000 90,000 0
O9EXNEE DSEs MY 90,000
SUHEE D= 674,500 2,212,300 A 1,537,800
= 390,000
< 284,500
T22 XGtAIEES HatstArY 487,500 2,019,300 A 1,531,800
= 390,000
< 97,500
403 A X EHHSH20IA 487,500 2,019,300 A 1,531,800
= 390,000
< 97,500
01 X EHHMA=E L 487,500 2,019,300 A 1,531,800
OEZ22 XotAlE=S HASHALY 487,500
= 390,000
< 97,500
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SN EXRRD
M EXNYY HFE P

Sl BAFE YRS (ol @)
SA - BB B () - MM - BES Ol &t o San HmEET
S2UAZEANAE S FA 22 60,000 60,000 0

201 L2yl 60,000 60,000 0
02 ZZ2H 60,000 60,000 0
O32UFEAAE Sg 2l 60,000
AMAE ZAGYE S22HFE 2= 127,000 0 127,000
207 A& H| 127,000 0 127,000
02 & AR b 127,000 0 127,000
OANHE HAZE A=(0aE2) 127,000
SEYFA DJIPRS 475,887 481,970 A 6,083
EZ2HFA MES SEIAMY KJ 230,000 230,000 0
308 XXM SOl A 230,000 230,000 0
01 IXNHHBNEES 230,000 230,000 0
OL2Y = MEs FEAAY 230,000
29 T2HE HE 4X 100,000 100,000 0
403 XIS E X201 & 100,000 100,000 0
01 X SHHAN2E = 100,000 100,000 0
OZIA=2HE ME &X 100,000
EREE=A BEE 20,900 27,000 26,100
201 €82l 20,900 27,000 A 6,100
01 At 22l 20,900 27,000 26,100
OE2H=4A EB(MaAEZ) 20,900
SN EFHSEH HE A 90,000 90,000 0
308 XX EHHSOIA 90,000 90,000 0
01 HIXNHHNBNEES 90,000 90,000 0
OINXNFHSs T HE & 90,000
INFLEBALE RIS & 29 13,418 12,972 446
308 XXM SOIA 13,418 12,972 446
10 B2 SUHUE3 &S A 13,418 12,972 446
OZNF2TFEAN2E RIAES ¥ 29 13,418
TC2HE=A Ik 8da MY 21,569 21,998 A 429
308 XX EHH SOl A 21,569 21,998 A 429
10 SII 2 SOICHEHE & X 2 AL I 21,569 21,998 A 429
EZ2HF=A ek gds A Y 21,569
OXEg NE1= 1,420,000 1,749,604 A 329,604
= 1,308,000
< 112,000
KN ETHEALALSY =& 1,351,600 1,731,604 A 380,004
= 1,308,000




<

n0

Kio

Hl w

A 380,004

A 380,004

50,400

10,000

10,000
40,400
40,000

400

165,000
10,500

10,500
10,500

136,000
136,000
136,000

9,500

9,500

H3r
Wikd
RIS

1,731,604

1,731,604

18,000

18,000
18,000

Off &t 24

4

43,600
1,351,600

1,308,000

i

H

43,600
1,351,600
1,351,600

1,308,000

fir

H

43,600
18,000

18,000
18,000
18,000

50,400

10,000
10,000

10,000
40,400
40,000
40,000

400

400

165,000
10,500

10,500

10,500
10,500

136,000
136,000
136,000
136,000

9,500

9,500

el o

)
=

EX

2N
X ZH -
L= B
el

ord

=

=)

308 A+XI A

OXI = TH Z= AbAF

NEHEZAL 2

80
0B
J
oll

01 AtR 2t 2l |
OXI & TH Z= Ab

30
0
ol
all

01 At 22l bl
03 Al S THHI

401 AIEBIZ 2 HYI
01 Al&HI

&

i <
Ar o

30
0p
o]
oll

tel i

1
)

01 ALS

0l
=

o)
oF

ol
180
RO
0

=

0

ol

oF

207 &1 JH & H|

-

ol

<J
Kl

RU

i

F3AE M=z

F

S
2

=2 o
£ 4

o35t

ol

00
o

M

80
0K
J
oll

ul

9,500
9,000
9,000
9,000

9,500
9,500
9,000
9,000
9,000

01 SLHOHI

202 o4 Hl




SN EXRRD
M EXNYY HFE P

Chel: E2AY DB = (=& J)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
Osogz=za0 S4ES 82 (00EZ 10
%) 9,000
HE2HZH (EX 22| t) 78,510 81,670 A 3,160
Jl2ZHl(EXl&elu) 78,510 81,670 A 3,160
JI2dU(EX 22 ) 78,510 81,670 A 3,160
201 2et24d] 37,260 38,880 A 1,620
01 At 2teltl 37,260 38,880 21,620
OEXNZcIG2FA (0 &= 2 10%) 37,260
202 O4dl 37,260 38,800 A 1,540
01 =S LHOYI 37,260 38,800 A 1,540
OEXNZelgF& (ol &2 10%) 37,260
203 R =&Yl 3,990 3,990 0
04 FN2ELSZ=TH| 3,990 3,990 0
OERX 2l (0l A= 2 5%) 3,990




